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11.1 Describing Chemical Reactions Notes
1. Define chemical equation.

2. The arrow in an equation means
.
Identify the reactant(s) and product(s) in the chemical equation Li + Br2 → LiBr.

a. reactant(s)

b. product(s)


Define reactants:

Define products:

Circle the letter of each statement that is true about a catalyst.

a. A catalyst is the new material produced as a result of a chemical reaction.

b. A catalyst is not used up in a chemical reaction.

c. A catalyst adds heat to a chemical reaction.

d. A catalyst speeds up a chemical reaction.

	Symbols Used in Chemical Equations

	Symbol
	Explanation

	   +
	

	
	“Yields,” separates reactants from products

	
	Use in place of → for reversible reactions

	(s), (l), (g)
	

	
	Designates an aqueous solution; the substance is dissolved in water; placed after the formula

	
	Indicates that heat is supplied to the reaction

	
	A formula written above or below the yields sign indicates its use as a catalyst (in this example, platinum).


e. A catalyst is placed above the arrow separating the reactants from products

You could say, “Iron reacts with oxygen to produce iron(III) oxide (rust).” How would you write this as a chemical equation?
When heated, mercury(II) oxide chemically changes to form mercury and oxygen. How would you write this as a chemical equation?
Balancing Chemical Equations
What is the law of conservation of mass?
What is the difference between a skeleton equation and a balanced equation?
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Complete the flowchart for balancing equations.
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1.
Balance the equation for the reaction of benzene and hydrogen to form cyclohexane.


 C6H6 +
 H2 → C6H12


2.
Balance the equation for ethane, C2H6, burning in oxygen to form carbon dioxide
and steam.


 C2H6 + 
 O2 → 
 CO2 + 
 H2O

3.
Balance this chemical equation.


 Fe2O3 + 
 H2SO4 → 
 Fe2(SO4)3 + 
 H2O

4.
Balance the equation for aluminum burning in oxygen to form aluminum oxide.


 Al + 
 O2 → 
 Al2O3

Are you changing coefficients or subscripts when balancing chemical equations? Think about what we know about bonding and explain which answer you choose. 
Determine the correct formulas for the 	 and�	.





Write a 	 with the formulas for the reactants on the left and�the formulas for the products on the right of a yields sign (→).





Count the number of 	 of each element in the reactants and in�the products.





Balance the number of atoms of the elements on the two sides of the equation by�placing 	 in front of formulas. Never try to balance an equation�by changing the 		 in formulas.





Check each atom or polyatomic ion to be sure the equation is 		,�and make sure that all coefficients are in the 	 possible ratio.








